| #x%X1 &4

FEMZEDIRERNRE

P WEEEEREERX

4 WEEEEKEEEHRE



FEME (REANRRK)

[#zt2 GEREmR)

WEEEEKEEERE
Z2x 0 HE &% ™
EEAEE
1= 6,097, 325
(A&ERX]
1= 6,097, 325
KERE., REEYREES
1= 6,097, 325
KEHE AEEE 1,00, HWAEW QEEZY) 3.00xKX, K (1) —1 3.00#m, K (1) —2 3.00# =,
s 4,210,881 BRK (2) —1 6.00iR. £RK (2) —2 9.00ihm. FHFER 1.00xX, /AR OKEHE) 1.00=K.
WMESER OKEHRE) 1.00X
EERE B 4.00d ., 2R (BEHRAZ) 1.00X. HESER (EERED)
1% 567, 660
T FURE TS50 bURE 400, AWEER (TS50 FUfE) 1,00, B - ER (F505 FUBAE) 1.00K
1% 890, 584
i - | EHTiHE 1.00E, kS 1.00E, &&HE 1.00E
1% 291, 600
EERE MEIREERAE 1.00xX. EHEXESR 1.00K
1% 136, 600




FEME (EREEE)

He WEEEBKEEERE

[#zt3 GEmas) |

&7 #E &4 R
EEARR
1= 5,119,780
HEn
1= 2,390, 220
AEEER
1= 7,510, 000
1R
1= 9717, 545
E N
1= 966, 640
24
1= 10, 905
Z O o
1= 520, 535
KT
1= 1,498, 080
—REER%
1= 801, 920
AEHER
1= 2,300, 000
BB R
1= 9, 810, 000
P& TE Mm%
1= 9, 810, 000




